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QUESTION 1

Consider the entity-relation (ER) diagram shown in the exhibit. When the logical database design phase is completed,
which of the following is a valid DBDL description of the base relations for the ER diagram? 

A. STUDENT( Student_Number: integer NOT NULL Name: variable length character string length 20 NOT NULL)
Primary Key Student_Number CLASS( Class_Num: integer NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num 

B. STUDENT( Student_Number: integer NOT NULL Name: variable length character string length 20 NOT NULL)
Primary Key Student_Number CLASS( Class_Num: integer NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num Foreign Key Class_Num References STUDENT 

C. STUDENT( Student_Number: integer NOT NULL Name: variable length character string length 20 NOT NULL)
Primary Key Student_Number STU_CLASS( Student_Number: integer NOT NULL Class_Num: integer NOT NULL)
Primary Key Student_Number CLASS( Class_Num: integer NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num 

D. STUDENT( Student_Number: integer NOT NULL Name: variable length character string length 20 NOT NULL)
Primary Key Student_Number STU_CLASS( Student_Number: integer NOT NULL Class_Num: integer NOT NULL)
Primary Key Student_Number CLASS( Class_Num: integer NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num 

Correct Answer: D 

 

QUESTION 2

Which concurrency control method should be used only when conflicts between transactions rarely occur? 

A. Locking 

B. Time stamps 

C. Optimistic 

D. Serialization 

Correct Answer: C 

 

QUESTION 3

Consider the following relations shown in the exhibit. Which of the following SQL statements would return the
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Customers2 relation from the Customers relation? 

A. SELECT * FROM Customers WHERE Satisfaction_Rate = 90; 

B. SELECT * FROM Customers WHERE Satisfaction_Rate IN (80 AND 90); 

C. SELECT * FROM Customers WHERE Satisfaction_Rate >= 80 AND Satisfaction_Rate
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